BIOLOGY I

OPEN-ENDED ITEM: DNA
In 1950, Ervin Chargaff and colleagues examined the chemical composition of DNA and demonstrated that the amount of adenine always equals that of thymine and guanine always equals that of cytosine.  This observation became known as Chargaff’s rule.

A. (1 pt.) Based on current knowledge of the structure of DNA, explain the basis of Chargaff’s rule.





B. (1 pt.) The diagram below represents a single-stranded segment of DNA.  Below write the complementary DNA strand that would form from this strand during replication.  Use the letters A,C,G and T to designate the bases:
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C. (2 pt.) How would the sequences change if the single strand was: T G C A A?  If this change had occurred naturally, what would it be called? 








